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%1 HaE 2 % BEEC 9 K4y 1.3% % 4 Bk 2 % FEEC 8 K4y 1.3%
o | HIE | BE 5 4 HAL | H OB mEEs|  (HE ah | B | BEF 5 4 HAL | H OB meEs|  HE
O 1 4 |=rdrTat 2:49.2 | 490 | 302 O 1 1 | AavI4— 2:36.1 | 470 | 315
@] 2 6 |~v/LARwaEA 3:23.6 470 305 R O 2 T R 3:26.9 490 180
O 3 1 |TTEVRT TV 3:31.1 | 490 5 O 3 6 | o< 3:29.0 | 490 126
O 4 9 |FATF A= 3:55.0 | 490 | 348 O 4 2 |RrvavLF— 3:44.1 | 470 | 271
5 2 |PURIVER 4:01.2 | 470 132 5 5 |[ZA4—2RUAh 4:40.2 | 470 103
6 7 |Faw 4:05.3 | 490 102 6 8 |VAARR 4:51.8 | 470 | 216
ik | 3 |=ZF—) 470 57 fik | 1 | TTEVRAYT 490 14
ik | 5 |m2r=vyTrel 490 335 ik | 3 | ¥ AAY 470 88
fik | 8 |edkx 470 | 247
W2 mk 2 % GEEC 9 K4y 1.3% % 5 Bk 2 i SEEC 9 KAy 1.3%
e | A | BE 5 % HAL |E OB wEEs 65 o | HIE | BE b5} % HAL  |E OB wgEs 55
O 1 1 |3FA 2:41.9 | 490 | 309 (@) 1 3 |TFT 3:40.0 | 470 38
@) 2 8 |7TELITE 3:06.6 | 470 16 O 2 8 | AAVTENT 3:42.5 | 490 | 370
O 3 4 |V=A3HY ) 3:34.2 | 470 | 160 ik |1 [ AsEALE— 470 | 320
ik | 3 (e IF v 470 | 250 k| 2 | RrAFLEA 470 | 277
ik | 5 [T Fer 470 | 321 | I N D 470 | 167
fik | 6 |[YreRA—TVy 490 | 143 ik | 5 |FEvR—=I 470 | 221
ik | 7 [vrxAFE=m 470 | 183 ik | 6 |RrEAT72T—Y 470 | 284
ik | 9 |WYITTHR 470 74 gk | 7 | FAhm—2 470 | 231
ok | 2 |[Y=qxiE 470 | 148 ik |9 |WvAeT 470 83
%3 ik 2 % GAMC 8 K4y 1.3% 06 ik 2 % Sk 9 K4y 1.3%
o | HIE | BE 5 E4 BAL | H OB wmaEs| an | HIE | BEF b5} % HAL|H | waEs|  HE
1 6 |YzAre— 4:50.6 | 470 | 170 O 1 8 |XLIIAYx 2:59.0 | 470 89
ik | 1 | TIvrRA 490 | 260 (@) 2 (S EVAY & 074 3:17.4 | 490 | 122
ik | 2 [ hIkakyYay 490 81 (@) 3 9 |HIy=TI— 3:33.9 | 470 | 371
ik | 3 [FRyaFxy 490 | 236 (@) 4 2 |r=Faxrval 3:50.9 | 470 | 104
ik | 4 [ETvansYA 490 | 125 5 5 |TTEVRAFIF 4:01.6 | 470 13
ik | 5 [PUABYIRY 470 | 134 6 3 |ERTIA— 4:02.9 | 470 | 203
ik | 7 [ARZRRR 490 | 294 k|1 |REIATH 490 87
ik | 8 |[YxAPAET 470 154 Pk | 4 | TIFFH—L 470 259
ik | 6 [ HFLAR 470 71




7Bk 2 5 BEE 9 KRSy 1.3% % 10 ik 2 57 GHEL 8 K4y 1.3%

HE | HE 5 4 HAL | H R mEEs| (B ah | B | BE 5 4 HAL | HOR|mxEs|  HE
1 4 |vro 3:30.5 | 490 | 330 O 1 3 |Fq—RUAR 2:51.7 | 490 | 220
2 8 | MTF AR 3:36.8 | 470 51 2 2 |aT=E AT 3:21.0 | 490 | 375| EMs:
3 1 [P APT7AT 4:00.9 | 470 | 151 O 3 1 |wABoaFsv 3:21.9 | 490 | 301
fik | 2 |TLETAXYL 470 | 367 4 6 |[ehLabTF 4:33.0 | 470 | 246
ik | 3 |ZmEex 470 | 118 k| 4 | FRH= 470 | 207
fiik | 5 (YA R—Tr— 470 | 212 ik | 5 |7 470 59
ik | 6 |RreAHYRLS 490 | 275 fik | 7 | AvF— 470 45
fik | 7 YarbkA 490 | 355 fik | 8 |TUrTa 470 19
ik |9 | T AP — 490 | 256
W8 ik 2 % SEEC 9 KAy 1.3% W1 ek 2 i VEEC 7T K5 1.2%
o | A | BE 5 % AL |E OB wgEs| (5SS o | A | BE 5 % HAL | H OB mEEs| fi§E
1 6 [FLVr—R—L 3:06.5 | 470 | 230 (@) 1 5 |X&ITV 2:48.5 | 490 95
2 T |ArRAT Y2 3:25.0 | 470 | 272 (@) 2 6 |VxArA 3:48.9 | 470 | 150
3 3 |LyRTAAy 3:27.0 | 490 | 362 3 4 | TV ERIR 4:44.2 | 470 | 265
4 5 |U~TA— 3:28.5 | 490 | 336 fik | 2 |YxAraeR 470 | 156
k| 1 |7y TT 470 22 k| 3 | ZUREAATE 470 | 109
ik | 2 |[Y=ATAk 490 | 169 ik | 7 |=udeLR 490 | 304
ik | 4 | Rrvaya s E— 490 | 270 ik | 8 |FavmARE— 490 98
ik | 8 |TUAY 470 40 B | 1 [YeAPe— 470 | 153
hik | 9 |RFVT A= 470 192
9 ik 2 % S 9 K4y 1.3% %12 Fik 2 % S T Ky 1.2%
FHE | HE 5 E4 BAL | H OB wuEs  fE 66 | HE | BE 5 % BAL|H OB meEn|  §E
1 T |PeAATr— 3:56.6 | 490 | 377 @) 1 1 |ZURZL T —)L 3:03.1 | 490 | 111
2 5 |YzAasi—h 4:17.3 | 490 | 152 @) 2 T |ATIEVY 3:16.0 | 470 | 319
3 1 |ayyandyyy 4:38.6 | 490 | 121 (@) 3 3 [AF—Lvh 3:17.4 | 470 | 191
k| 2 (IN=TuT 470 | 243 (@) 4 4 |[JTARYE Y a— 3:47.7 | 470 | 106
ik | 4 |UALRFY— 470 | 366 5 8 |TTELRARLY 4:34.0 | 490 15
ik | 6 |FU—UrH— 490 | 374 6 6 |TTESRTAA 5:04.8 | 470 3
ik | 8 |[YxAUTRA 490 146 fik | 5 |FTTTY— 490 101
ik |9 | FrFrr 490 | 378 W | 2 [YHAIRTH 490 | 213
BRok | 3 |avvanURy 470 128




13 Bk 2 5 BEEL 8 K4y 1.2%

EE | B B 4 SAL | HE OB mEr HE
1 7 Ry aRAT E 3:20.6 | 490 | 312

2 3 |RyFrTFiYay 3:32.5 | 490 | 224

3 8 |V ATATNLE 3:37.5 470 147

4 6 |VH/ErT— 3:54.6 | 490 137

5 1 | TyYUAhR 4:30.1 | 470 165

6 5 |[7=7)—x< 4:37.9 | 470 | 252

fiik | 2 |2l 470 | 251

ik | 4 |T=FH Ay 490 1

14 Bk 2 % BEEC 7 kS 1.9%
HE | HE 5 % AL |E OB wEEs 65
1 3 |ITURAE—F A 2:27.3 490 107

2 6 |[hTERTUH 2:37.1 490 130

3 5 [797—U— 3:54.2 | 470 | 261

4 8 | FHLARY 4:08.2 | 470 | 234

5 2 |Tvaxs 4:10.7 | 490 | 257

fik | 1 |3k 490 | 297

fik | 7 LAuy 470 | 358
B | 4 |[ZVARZLE—B 490 112




